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OPTION-A
Paper : CHE-SE-3034

{ Basic Analytical Chemistry)

Full Marks : 50

Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following questions : (any four)
1x4=4
wore AR O fm ¢ (Ricerer 51R5Y)

(a) What is algal blooming ?
eglte (e & ¢
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(b) Name the disease caused by excess
fluoride in drinking water.

AR “fiTe A Fazee Toffor s
@3 @fRkE w e

(c) What is bio-preservation ?

o) WTwI T o

(d) What is gradient method of elution ?
TR AT ANTIH & o

fe) What is the role of emulsifiers used in
cosmetic formulation ?

%maamsﬂa UTTTIIS TR Gl

() What is Dowex A-] ?
TEE A1 BFe

2. Answer the following : {any three) 2x3=6

weTs T UeR il ¢ (Reaionr fofaby)

(a) Do you think that an instrument of

high precision gives always an accurate
result ?

Tw-geeR AfRmieige I3 B3 Ty
S wW Ffa 3R <A 3 offt ori 2
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(b)

(c)

(@)

(e)

Can all toothpastes be considered as a
cosmetic product ?

AL BACABCRR 2T AT T ool R
ARE 2

Why is EDTA mostly used in
complexometric titration ?

IR WNF SAAPTES EDTA B
ITTOIR IR/ T [ ?

The working principle of Gel permeation
chromatography is based on which
sorption mechanism ?

@@ AR I Aot I
@I CNES fFaiRits eote wgiRe @

How can Reverse Osmosis (RO)
technique be used for large-scale water

purification ?

R Ne SiERE AR EE IR AR
AR MR 2AfFTe IR FRI AR 2
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3.

Answer the following : (any two)

5x2=10

were AR e’ foat ¢ (R 7o)

(a)

()

(c)

What are preservatives ? How are they
classified ? Give few examples of each
class. 2+1+2=5

ARTFeTE & ¢ Cid efReem
o = =2 AoRE EHEm T
izl

Discuss the general principle of
chromatographic separation with
reference to migration rate and
retention time. What is Ryvalue ? Why
is it significant ?

3+1+1=5
ICEALR A IFINT MRS BT ©i7
ST T A% 47 P ACATF WD

4 | Ry WA o1t 7 3 2 Q3061 o 3Gl ?

What do you mean by ‘complexometric
titration’ ? What are masking agents ?
Explain its role in complexometric
titration with suitable examples.

. 2+1+2=5
‘Gfbe SR e 5 ot ¢ IRk WrEg-
Tz R ? SHTPTR el SsM efre
20 oS e
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(d) What is meant by tests of significance ?
What are those tests ? Briefly discuss
each test. 1+1+3=5

mmﬁmqﬁmﬁs{m?m?ﬂ@w
& & 2 Arot A9 I SCAS 34

4.  Answer the following questions : {any three)
10x3=30

T fuxl emivreR e i ¢ (R RRAG!)
(a) Write short notes on : 2%2x4=10
5y GBIt feat ¢
(i} Standard deviation
TR Rgife
(i) Chelating agent
b e
(i) Food processing

A ATNL

(iv) Arsiron Nilogon

wifges fersm
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() @)
(@)
€ @

What is DVB ? What is its role in
ion-exchange resin ? What is the
basic difference between cation-
exchange resins and anion-
1+1+3=5

DVB & ? simm-Rffm @fme TR
il & 2 @oiEm-RiNT i 9wim=-
R s e drev & 2

exchange resins ?

Discuss some important
applications of ion-exchange
resins. 5

FE-Rffw @R @Hmm wwged
AR A wicEe 354

What are the major ingredients of
cosmetic products ? Discuss the
role of each ingredient in the
cosmetic formulations.
examples.

Give
2+3=5
oA AT % SR R e
AN AT ATOIINS ACSTICH!
T BIG SIEHN F | GIREIRT
Tz A
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(i) What are

deodorants and
antiperspirants ? How are they
different ? Why are antiperspirants
considered as quasi-drugs but not
as cosmetics ? 2+1+2=5

e @S o GFBoARPIES i
& g ¢ Figdex Wwe orew & ¢
GFBARITE AIZE @RI Gisr’
fRBIToItR a1y T4 =W, 2P AW
o 7w, 7 ¢

(d) What is water pollution or water
contamination ? Discuss various
sources of water contamination.

2+8=10

off Tt avget & 2 ot e Rfon Bew-
TR R SeEwa w111

e) @)
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What is sampling ? What are
different sampling methods used
in water analysis ? 1+4=5

TR e [ @ ¢ SNidie Resares
TS [ & TR 4wl e
2 ?
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iy What do you mean by dissolved
oxygen (DO) ? Discuss the
principle of determination of
dissolved oxygen in water.
1+4=5
7y wRtem (R & qE ? AN
TGS SRR SifRme Ry w41 simfoT
T ST e B |

(! () What are significant figures ? How

many significant figures are there
in 1-012 x10=* ? Do the following
calculations and round off the

answers to appropriate number of

significant figures : 1+1+3=5

(A) 35678 mg +2.17mg +5.0mg +2.91mg
(B) 0.156cm3 x 9.238 g cm—3

AT NI F 2 1.012x10-4 S
LB NF ST WI(g 2 wore FEE
N T A O FATARIR Toge
LT SR WS o 9 3
(A) 35678 mg + 2.17mg +5.0mg +2.91mg
(B) 0.156 cm3 x 9.238 g cm-3
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(i) Define mean and median. For

titrating 25mL of a given
copper (II) solution, the volumes
of the standard hypo solution used
were 20.2, 19.5, 19.9, 20.7 and
20.0 mL. Calculate the mean and
median of the consumed volumes.

2+3=5

G IS TG AR 141 | 25mL FAR
(I1)-3 B3 51 SEoR BRI IS
@R e FBA-EE GHR SR 2
20.2, 19.5, 19.9, 20.7 W% 20.0
mL. Srisiate QAT QSO
oG WH N Ny Fey 4
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'OPTION-B

Paper : CHE-SE-3034

( Chemical Technology and Society)
Full Marks : 50

- Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Answer any four questions from the
following : 1x4=4

wers il eI Tt 5B e iy

(a) Give two examples of natural polymer.

757 AP T Sad fmy

(b) Which light is responsible for ozone
layer depletion ?

(IS o1 I o o =T P 2
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() Which element is mostly used for
vulcanization of rubber ?

' SIEFEAIRCTRAS (FIACe!T GIE AIRNTS
I T W?

(d) What is meant by relative humidity ?
el T e B 3o e

(e) What is genetic engineering ?

s g & ¢

() What are the gases responsible for acid
rain ?

i |[FAT AR WA ez R e

Answer any three questions from the
following in brief : 2x3=6

wore Al el et oAb v e fa 8

(a) What is the difference between chemical
engineering and chemical technology ?

hicea ik w=. @Rtea Gamefer
were AT [ e
3 (Sem-3/CBCS) CHE SE/G 11 Contd.



(b)

(c)

(d)

(e)

Discuss briefly the effect of acid rain
on the environment.

AFfo7 evive wifis YU wor s
Rl o

What is alternative energy ? What are
different alternative energy sources ?

e e R » R SR SRR B & 2

What is meant by thermoplastic and
thermosetting plastic ?

2 @i AC: 20 3o R e

What is solar energy ? How does it
work ?

GTR *ife ?3:Gﬂﬂ?5ﬁ?§132§ ?

Answer any two questions from the

following :

ox2=10

oo iRt 2R Rt ghie Sew fo

(a)

Briefly discuss the greenhouse effect
and its causes.

o ORI BN TR SN
A <=4 |
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(b)

(c)

(d)

What are the steps may be taken to
prevent the water pollution ? Discuss
briefly.

Al AR 91 TS ARAE [ & a7 @
2, G TCEToAl 1|

Discuss briefly different compositions
of soil.

IR RSICER P DR NE G R (SR G T e f

What is clean energy ? Discuss different
types of clean energy briefly.

= i & 2 Rfow oo fel «ifes Ra
LT SCEDA 9 |

Answer any three questions from the

following :

10x3=30

wore e e R fofabiT Tew fum o

(@)

Explain the social effects of soil
pollution with suitable example.
Discuss various sources of soil
contaminations.

T eI TR woe [F AR (o
ToAY® TUIReFR It 10| W e
fifen TR R St w111
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(b)

()

(d)

What is synthetic polymer ? Discuss
the uses of different plastics with
suitable examples. How do plastics

create problem to the environment ?
Discuss.

e AN B ¢ Aoy aome AR
TR THATE TR Gt 91 | AR
HARTR 84TS @FEHT TP B 3T 2
oA 10

Explain briefly Material Balance and

Energy Balance of a system with
chemical reaction.

<51 smfot oM STy wiw. %ifE SRy
afe Rfear e i w1

What is meant by energy crisis ?
Discuss briefly how nuclear fission and
biofuel can be used as a probable
alternative sources of energy.

& 136 A & @ 2 o Hrr frem o=
(% 2 T 163 Bt 29 ol (712 T
A 34 |
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(e) Describe different technologies used in

chemical industry.

I Temire JRTe [iv o fes R
I =41

Explain the term ‘manufactured drug’.
Discuss different steps used in genetic
engineering. How are proteins
synthesized ?

2gfoge wig I & @ ¢ (owfbs
AYfre Jage [ion =S wia o)
aftn (IS AFS F9 W ?
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OPTION-C

(ivy What basic inclusion is made in
Paper : CHE-SE-3074 | WTO Treaty that came into force from
(Intellectual Property Rights ) } 01-01-1995 ?
Full Marks : 50 | 01-01-1995-3 # /asmar?t I, WTO
e & Fedl suge (e ¢

Time : Two hours

The figures in the margin indicate 2. Answer the following questions : 2x3=6
Sull marks for the questions, oot fral erpTTe Ted A s

Answer either in Ensligh or i
g in Assamese. (i) Write the consequences of failure to

LA . renew a patent. 2
- Answer the following questions : 1x4=4
weTe Al e TR w 050 FRIee9 TN AR & T e
() Why are geographical indications @ @ i?:iegr 2 patent and dlscover;el:z
important ? . z
I TSR TS (U505 TF & 2
- . ) (b) ‘Gene sequencing is patentable’.
(iiy What is composite trademark ? —Write ‘correct’ or ‘incorrect’ for
fiftre I oz o this statement. Yo
) ) “Ree SIgErw (o570 IR MR | —SI&SCH!
(i) What is the period of industrial design ‘@’ o ‘W@gﬁ’féﬁnl i
and renewal period ?
95l S i
i QH?R PRI A% J el B (i) What is ‘collective trademarks’ ? 2
‘AN GoNs’ & o
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3. Answer any two questions from (a), (b), (c)
and (d): 5x2=10

wTe WAl (a), (b), (c) W% (d) I Rcwict w5t ep
e frmr e

(@ (i) Write four products where
industrial designs are applied. How

is industrial design different from
trademark ? (Vax4)+2=4

Ui B2 Ie R i, DIkt AR
 Fn @R B, Genders e

42T 2

(i) How is Madrid Protocol related to
WIPO ? 1

YW 7T FIS WIPO 3 srop s 9

(b) () Write, how products are protected
under geographical indication.
How can a person trade a
geographical indication tagged

product ? 241=3
AT STl Figpfon s
(AP ™ 39 2 9 S

T R i qom e
T IRT ANEF 9
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c)

(d)

()

t

(i)

Write the principles of Paris
Convention. 2

oif¥s piFsiaa Tomim ol

Explain the statement, ‘Copyright
is property.’ How is it related with
alty ? Is copyright taxable ?
rovey 1%+1+%=3

BRI i T — FERID 9T 7T’ |

ARG T TR TE [ 2 FhRige
7] AR I SARE 2

Write the difference between
licence and assignment of

copyright. 2

TPRITT TERA TS ST
Al & 2

What are the obligations of government
towards protection of blologxcal’
diversity ? How are plant breeders
rights protected under Intellectual
Property Rights ? 3+2=5

1 (afbaerR AR ¢S tFRT niEdael
2:1%@@ s (fEs A~ifes TR wfive
Sfew Boe SRPR (TN T RS 2

3 (Sem-3/CBCS) CHE SE/G 19 Contd.



4. Write the answers of any three questions

from the following (a), (b), (c) (), (e) and (7
options : 10x3=30

Se\g W (a), (b), (C): (d), ( s 1
fofabr emia Tea fadf ¢ e) "

(@ () Why and how can registered layout
designs be assigned to others for
use ? Who can register a layout

design and what are registerable
items ? S

o1 oI @ G Tm = AGE T
JIF| @ /G 590 37 ¢ EEE
A AGT TR SN e i <
¥ PG TR A o |

(i) Write about the obligations of
patent holder. 5

(155 AN FETI TAE foyal |

(b) (i) Write four salient features of GATT
Agreement. 4

GATT B el o1y iy 72y |
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(c)

(t7)

()

(%)
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Write in short about International
Agreements of India on
trademarks. 6

TS ST B QUG R
gt WA, G R e Bl

How do TRIPS Agreement provide
definition of ‘trademark’ ? Does
trade-mark symbol expire after a
set term of time ? Write four
qualities of a good trademark. How
does it help people in business ?

1%2tY2+4+1=7

TRIPS §fed o GEOA K&l & 2
G o win ¢ R8T #ige
e T @ 2 G5 O GUNIF 5!
wafiiey Bl | 2 IS TP (AT TR
S ?

Write in short, inception and
development of Intellectual
Property Right in world. o

s (i s it enTsd i,
Rrom TGS 2, BYC

Contd.



(d) (1)

(e)

(1)

(iti)

(V)

When and where Budapest Treaty
glgned and entered into force
internationally ? Write the
significant point of this Treaty.
(Yot Yot Yo)+1%2=3

i@'ﬂ‘j@ﬂﬁﬁ @foal, 0 w8 (%
S eTelE 2aea tafee 2 @3 AT

S FARE
Write about the responsibilities of
a copyright owner., 3

%ﬂaﬁs‘s IS wlieRe nktge Re@
A

In business, how trade secret is

used ? How can a person protect
trade secrets of its own ? 2+2=4

TS, TARE (stiomiTel @Ees a9

2 GG TG (961 IR e
@ [ikee 7 ¢

What are integrated circuits ? Give
example. Why and how its
protection is required ? Can it be
patented ? How long does
protection last in layout of
Integrated circuit ?

1+1+3+1+2=8
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(i)

(i)

3 (Sem-3/CBCS) CHE SE/G

wrTe Te) & 2 o Tz fial | 6
R (AT QAN AR A 7
(o5 TR ARE 2 TS 6T
el W R feitet e 2

Differentiate GATT from GATS.
%

GATT Sii& GATS-T #1dy i |

Define industrial design. Why and
how is it under Intellectual
Property Right ? 3+3=6
T T P @I 2 5 O @
2 (e i Sliei Teye 3f
7 ] 2

Write the structure and functions
of WTO. 24+2=4

WTO-3 o15a Wi 31 &5, frdt
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